
[ Turn over

Time :  Three hours                                                                                         Full Marks : 100( 50 Marks for each Part )
Use separate answer script for each Part

PART I (50 Marks)
Assume reasonable values of data not supplied



[     2     ]

1)   Answer all questions
2)   Assume reasonable values of data not supplied
3)   Answer the Part I and Part II separately
4)   There is no need of any  code etc for answering Part II

Time :  Three hours                                                                                         Full Marks : 100( 50 Marks for each Part )
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( 50 Marks for each Part )
PART II  (50 Marks)


